 SEQ CHAPTER \h \r 1Panzer Leader Rules Summary
Game Turn
 I.  Allied segment:

1. Combat Phase
a. allied player writes indirect fire (IF) orders for next turn.

b. allied player resolves any minefield attacks against German units.

c. allied player resolves IF attacks.  All units inverted to signify they may not move or load in the current segment.

d. allied player resolved direct fire (DF) attacks.  All these units are also inverted.

2. Air Phase
a. allied player moves all aircraft.

b. German player executes all AA attacks Blank counters are placed on firing units to signify that they may not fire, move or load in the German’s next player segment.

c. Allied player resolves all AA attacks.

3. Movement Phase
a. allied player moves face-up vehicular units, executing overrun attacks.

b. allied player moves all face-up non-vehicular units.

4. Close Assault Phase
a. Allied player executes close assault attacks using any face-up infantry units that did not unload this segment.

5. All inverted allied units are turned face-up
II.  German segment: Repeat steps 1-5, except he has no Air Phase.

III.  Move turn marker on game track.

Movement
a. move any uninverted, undispersed units.

b. cannot move units that fired in previous phase.

c. can move to any adjacent hex, if that unit has only 1 MP.

d. may move through friendly hex (not to exceed stacking limits).

e. may not move into or through enemy hexes (exception: overrun and enemies in fortifications).

f. see TEC for terrain effect on movement.

Transporting
a. class C units can transport 1 non-vehicular unit (guns and infantry).

b. place passenger unit underneath transporting unit.

c. C units may load, transport or unload in 1 turn.  They can never load and unload in the same turn.
d. artillery units 88mm or larger require a C unit to expend its entire movement allowance to load or unload this unit.  Both units must be in the same hex in the beginning and in the end of the movement phase.

e. artillery units smaller than 88mm, Nebelwerfer, 25pdr and all infantry require all C units to expend ½ their movement (round up) to load or unload.  They may move ½ then load or unload or vice versa.  The passengers may NOT move during this segment.

f. passengers and carriers involved in combat during the prior combat phase or dispersed units may not load that segment.

g. a transporter’s movement cannot be split before and after a load/unload operation.

h. trucks/wagons plus transported unit have a combined defense of 1.

i. halftracks use their defense when attacked.  Halftracks may fire if they have units loaded.

j. passenger and carrier both count as 1 unit for both stacking and combat purposes.

k. if carrier is dispersed or eliminated, the transported unit is also dispersed or eliminated.  

l. German armored vehicles: may transport infantry like C units (exception: SPA unit).  If armored unit destroyed, so are the passengers.    Passengers can be specifically targeted (defense= 1).  If passenger unit dispersed, it is also unloaded, unless this violates stacking limit.  In this case, both armor carrier and passenger are both dispersed.  Armor units may fire when loading/unloading passengers.

Roads
a. road rate (RR)= ½ MP unless entering from a non-road hex side.   In this case, use terrain for calculating MP cost.

b. can use RR only if the hex contains 2 or less units.

c. if the road is the only way a unit can otherwise enter a hex and the road cannot be used (in case of above), then that unit cannot enter that hex.

d.  RR cannot be used if hex contains a minefield, block or fortification.

Stacking
a. may stack a maximum of 4 units per hex.  Transporters + passengers =1.  Minefields do not count.  Blocks, fortifications and wrecks 

do count.

b. may not enter/move through a hex with maximum stacking.  Exception: overrun attacks my violate stacking.

Combat  

a. the combat ratio is always rounded down in defender’s favor.

b. subtract 1 from dr6 if target unit is dispersed. 

c. a unit can be conceivably be attacked 4 times in 1 turn: (minefield, then DF or IF, then FB, then CAT) or ( DF or IF, FB, OA, CAT).

d. note that a unit cannot be attacked by DF and IF in the same turn.

I. Direct Fire (DF)
a. units may not move if they fired in the prior combat segment.

b. units with a * may attack twice their range at ½ strength.

c. a single unit can be attacked by multiple attackers.  All attackers total their attack strength (AS) into a combined AS.

d. the attacker may choose any combination of units in a hex as  targets.

II. Indirect Fire (IF)
a. class M and (H) units can employ IF (unless loaded or dispersed).

b. target hexes are designated in the combat phase of the prior turn.

c. cannot change the target hex orders.  That hex must either be fired upon or that unit cancels its fire order.

d. no LOS/LOF required, though another friendly unit must have a LOS into the target hex.

e. if target hex is a woods or town hex, then that hex must be spotted by a unit adjacent to the target hex. (See spotting).

f. any unit that can employ DF can act as a spotting unit.

g. If units sighting/spotting target hex are eliminated or destroyed, or move away between IF orders and their fire, the IF fire may scatter: make a dr6: 1,2 target hex hit normally; 3-5 causes scatter (see scatter diagram); 6 is a miss.

h. in order to fire the following turn, IF units cannot move after their orders are given.

i. IF must be directed to all units in the hex.

j. to resolve an IF attack: final AS= combined AS of firing units/ # of units in target hex. .  This reduced ratio is applied to each unit in the hex separately, calculating attack/defense combat ratios for each.

k. (H) units may employ IF only if the target hex is >1/4 their range (round down).  

III. Overrun Attacks (OA)

a. armored vehicles may conduct OA only in clear hexes (including clear hexes containing roads or on a hilltop). German SPA units cannot conduct OA.  Halftracks may not overrun armored units including halftracks.

b. OA occur in movement phase.

c. stacking limits are ignored.  

d. all units overrunning the same target are moved before the attack is resolved.

e. all units must stop in the hex directly opposite the entry hex.  Cannot overrun if exit hex is occupied by enemy units.  

f. cannot use RR during OA but can use roads to negate the effects of terrain. 

g. to resolve an OA, calculate odds ratio normally, then use next column over in favor of the attacker AND subtract 2 from the dr6. In calculating odds, do not use ½ or double effects on the WEC.

h. all defenders in the hex are involved.

i. if multiple attackers are involved, they may come from different hexes though they use a combined AS.

j. units conducting OA cannot have fired in the previous combat phase.

k. hexes containing a block, wreck, fortification or minefield cannot be involved in an OA.

IV. Close Assault Tactics (CAT)
a. any infantry or engineer unit adjacent to their target can conduct CATattacks.  CAT is the only way “I” units can attack armored units.
b. the attackers must not have attacked earlier that turn.

c. units transported earlier that turn cannot conduct CAT that turn.

d. units can move then conduct CAT the same turn.

e. CAT bonus: subtract 2 from the dr6.  If infantry and engineers are together, use the next odds column over in favor of the attacker.

f. all defenders in the hex must be attacked as 1 unit and can suffer only one CAT per turn.

g. allied MG units may conduct a CAT only if stacked with a non-MG unit (infantry, engineer or scout) also involved in that battle.

h. any land unit can be attacked, and CAT’s can be executed FROM any hex except streams.
i. cannot conduct CAT against sea targets.
V. Weapon to Target Relations
a. half ranges are always rounded down; ½ attack strength retains fractions

b. DF: determine if armored or non-armored units predominate (if equal, treat as least favorable to each attacker).  Units being transported or in fortifications are ignored for determining predominance.  Count fortification as 1 armored unit.
c. all units in town hexes are considered armored and must be combined as 1 target with DF.  

d. WEC not used in determining OA odds.

e. H and M units are always halved (retain fractions) against armored units. (Unless H units are used for DF against armored units at range 6 or less).  

f. infantry with an * may double their range at the expense of an AS ½ their normal strength.
Line of Sight (LOS) and Line of Fire (LOF)

a. for all practical purposes LOS and LOF are equivalent.

I. Hilltops and slopes
a. when attacking with DF against a unit on a hilltop or slope, AS is halved (regardless of elevations).  EXCEPTIONS: 1) if both attacker and defender are on hilltops.  2) when defender is on a slope and attacker is adjacent (regardless of elevation) unless there is a brown hex side in between (See TEC).

b.  IF AS is never halved because of elevation differences.
II LOS/LOF Obstructions 

a. only colored hex sides and towns block LOS/LOF.

b. if a straightedge bisects a colored hex side through its length, that hex side blocks LOS/LOF.  Exception: LOS/LOF not blocked if it were a brown hex side connected to an orange hex side.

c. when firing FROM a slope or hilltop TO a ground target, the LOS is obstructed if the target is directly behind a town hex or green hex side.   The converse is also true.

d. when firing FROM a hilltop TO a ground target, the LOS is obstructed by an intervening brown hex side if such a symbol is midway or closer to the target hex.  The converse is also true.  Note: See “k”

e. LOS is blocked if traced through more than one hilltop hex side.  EXCEPTION: If both attacker and defender are both on hilltops.

f. ADJACENT attackers  may ALWAYS fire at a target regardless of elevations and intervening LOS obstructions.

g. Town hexes and green hex sides on hilltops obstruct ALL LOS, no matter the elevation of the target and firing unit unless adjacent.

i. when both attacker and target are on ground level, ALL colored hex sides and towns block LOS.

j.  slopes without brown hex sides do not block LOS along it.

k. razorbacks are 2 slope hexes that meet without a hilltop between them.  The brown hex side between them represents the ridge.  When firing from a hilltop to one of these ridge hexes (or vice versa) the LOS is not blocked.

j. see Rules J.11.d and e on page  9 regarding the cliffs and coastal bluffs on map board B.

Streams
a. vehicle units (including wagons) may never enter stream hexes except in undestroyed bridge hexes.

b. non-vehicular units can enter a stream hex if starting their movement adjacent to the stream.  They must make a dr6.  A result of 1-3 permits entry.  If unsuccessful that unit may not move at all that movement phase.  This dr6 must be made for each separate stream hex the unit attempts to enter.

c. units in stream hexes may never attack (except on bridges).

d. units in stream hexes cannot be attacked by ground-level units unless adjacent.



e. permanent and temporary bridges are equivalent to clear terrain (except temporary bridges built in woods-stream hexes etc.).  If RR not useable, the hex is still considered clear terrain.  However, if the bridge is destroyed, the hex is then treated as a regular stream hex.

Spotting
a. defending units in a woods or town hex cannot be fired upon by non-adjacent attackers unless these defending units are spotted.

b. enemy defending units are spotted if: 1) there is an adjacent, non-dispersed friendly unit present, 2) the defending unit has FIRED (used its AS in a non-CAT attack) while in the LOS of a non-dispersed friendly unit during the previous defending player’s segment and that friendly (and still non-dispersed) unit can still trace a LOS to the target.  Place “SPOTTED” markers on such target units.  The markers remain until all enemy units are no longer in friendly LOS or ALL friendly spotting units are subsequently dispersed/destroyed, or the spotted units (that fired) move into another an unspotted woods or town hex.

c. spotting units must be undispersed at the time they “direct” fire

d. spotting units cannot have been dispersed since the time the above mentioned target unit fired.

e. truck and wagon units may never spot.

Wreckage
a. replace each destroyed armor and fortification counter with a wreck counter to a maximum of 3 wrecks per hex.

b. each wreck counts as 1 for stacking purposes.

c. wrecks have no effect on combat.

d. if an armored unit is destroyed in a hex containing 3 wrecks, no additional wreck markers are placed; the destroyed unit is simply removed from play.

Positional Defenses
I. Mines
a. can place minefield counters anywhere in set-up area unless otherwise specified.

b. only 1 minefield can be placed in a hex. 

c. they cannot be placed in sea, town, bridge or swamp hexes.

d. once positioned, they cannot be moved.

e. mines have no friends; they affect both sides.

f. as soon as a unit moves onto a minefield hex, it must stop.

g. the opposing player, during the combat phase of his turn, rolls a dr6 for the attacking minefield.  The minefield attacks all units at a 2:1 ratio regardless of terrain.  Each unit is attacked separately.  Surviving units may move off next turn. 

h. units dispersed by the attack may not move off them and must suffer another minefield attack the following turn. 

i. a minefield is never used up.  It remains active until removed by an engineer unit. 

j. minefields do not affect stacking limitations.

k. minefield attacks occur before normal attacks during the combat phase.

II. Blocks 

a. blocks represent tank traps, road blocks, barbed wire, felled trees and anything else that may impede movement. 

b. can place block counters anywhere in set-up area (except sea hexes) unless otherwise specified.

c. only 1 block can be placed in a hex.

d. a unit may only enter a hex containing a block if it begins its movement phase adjacent to that hex.  Upon entering the block hex, that unit must stop and may move no further that turn.

e. blocks do not obstruct LOS and have no effect on combat.

f. blocks count as 1 for stacking purposes.

g. blocks can only be removed by engineer units.

h. a block counter in a road hex negates the road in that hex.  Therefore, vehicular units may not cross adjacent green hex sides when moving into a block-road hex.

III. Fortifications
a. can place fortification (fort) counters anywhere in set-up are (except swamp, sea, beach or stream hexes).   Once placed, they cannot move.

b. forts, and all units in them, count as 1 for stacking purposes.

c. units inside a fort use the defense of the fort only.  Forts are armored targets.  Terrain and weapons effects are taken into account when defending.  Any type of unit may occupy a fort. 

d. units attack from a fort using their normal AS.

e. if a fort is destroyed, all units inside are also destroyed.  The destroyed fort counter is replaced with a single wreck counter.

f. a fort counter itself has no AS and may only defend.

g. if abandoned or unoccupied, a fort may be used by the other player.

h. unwanted forts may only be destroyed by attacking them with one’s own fire weapons.

i. forts are not obstacles to fire.

j. unit counters in a fort are placed underneath the fort counter. Units on top of the fort counter (i.e. outside the fort) may be attacked individually or in combination like other targets. 

k. enemy units may move on top of a fort counter if friendly units are inside the fort but must end movement in that hex (they move off the hex normally the following turn).  In this case, friendly units may fire on that hex, but the dr6 must be made twice; once for the attack on the enemy units and once for the fort..

l. enemy units may not enter a fort hex if there are friendly units outside the fort.

m. when enemy units are on top of a fort, friendly units inside may not leave the fort, nor other friendly units may not enter that hex.

The friendly units inside may attack any enemy units within range, including the units sitting on the fort (treat these any units as if they are adjacent).   Similarly, the enemy units outside attack the units inside as if they are adjacent.  The units inside, in this case, may not conduct CAT attacks.

n. a fort can hold 4 units inside, and up to 3 additional units may be outside (stacking limit of 4).

o. no more than 1 fort can be placed per hex.

p. armored vehicles may not conduct OA attacks against forts.

q. forts may not be placed on top of mines or blocks (or vice versa).

r. unoccupied forts (or those containing trucks or wagons) cannot be used to spot other units.

Engineers
a. engineers may be used to: 1) clear minefields, 2) create and remove blocks, 3) demolish bridges and 4) increase the effectiveness of CAT attacks.

I. Clearing Minefields
a. this a 4-turn process: Turn 1: Engineer unit moves adjacent to minefield.  Turn 2: Minefield counter is inverted at the beginning of the movement phase.  Turn 3: Engineer unit move onto minefield.  Turn 4: Minefield counter is removed at the beginning of the movement phase.  

b. if the engineer unit is dispersed at any time during this sequence, the clearing process is halted.  When the engineer unit becomes undispersed, the sequence is restarted at the step in which dispersal took place.  

c. units are still susceptible to the minefield attack up until the minefield counter is removed.

d. if the engineer unit is destroyed, a new engineer must begin all over again.

e. an engineer unit may only clear one minefield at a time.  When engaged in minefield clearing, the engineer may not attack or load.

II. Demolitions and obstacles
a. Before the game, designate one truck, halftrack or other carrier for each engineer platoon to carry its equipment.  The vehicular unit may not do anything else this game except transport its designated engineer unit.  In addition, it must either be in the same hex or adjacent to the engineer unit when performing any of the following:

1. Bridge demolition: To destroy a bridge, the engineer must remain (begin and end its turn) on the bridge hex for 3 turns.  On the fourth or any subsequent turn it must move to an adjacent hex.  As soon as it makes this move, a dr6 is made:  1-5 means the bridge is destroyed and a block counter is placed.  It is then considered a stream hex for the rest of the game.  A 6 means that the attempt has failed.  It must then return to the bridge hex for a subsequent attempt: 1 turn on the bridge, a roll of 1 or 2 destroys the bridge.  2 turns on the bridge, a roll of 1-4 destroys the bridge.  3 or more turns, a roll of 1-5 destroys the bridge.  If the attempt fails again, the sequence must be restarted from the beginning.  If the engineer unit becomes dispersed during any of the stationary turns, this sequence is interrupted until the unit becomes undispersed again.

2. Creating blocks: Within the time period of any given time situation, an engineer unit may only create 1 block on 1 road hex.  The procedure is the same as the bridge demolition procedure, but the successful engineer places a block counter on the road hex.  The number of stationary turns to initially create a block is 2 turns for a woods-road hex and 4 turns for any other type of road hex.  Only 1 turn is required to try again if the first attempt fails.  A die roll of 1-5 on the second or any subsequent attempt creates the block.

3. Removing blocks: This procedure is identical to clearing minefields.

III. Special Engineer Vehicles
1. Sherman Flail: This unit performs like a normal tank except that it can clear minefields: 1) Flail unit moves into minefield hex and ends all movement.  2) In the following movement phase, the flail expends half its MP’s leaving the minefield hex.  C) as the flail leaves the hex, the minefield is removed.  Flail tanks cannot be harmed by minefields.

2. Churchill Flamethrower: This is a Churchill tank with its armament replaced by a flamethrower for close range attacks.

3. Valentine Bridge Layer: 1) Valentine enters a stream hex and ends all movement.  2) In the following movement phase, the Valentine expends 3 MP’s leaving the stream hex.  3) As the Valentine leaves, the tank bridge is placed on the stream hex, which can be used like a 

permanent bridge in the same movement phase.  Once placed, the tank bridge cannot be moved.  Note this is the only situation where a vehicle can enter a stream hex.

IV. Destroying Temporary Bridges
1. Engineers: Engineer units destroy temporary bridges in the same manner they destroy permanent bridges except they only have to remain on the bridge 2 consecutive turns.  In the third turn, the engineer moves adjacent to the bridge and automatically removes the bridge (no blocks are placed). 

2. Artillery: Combat units may destroy temporary bridges with IF or DF.  “I” units may not destroy bridges

a. temporary bridges are ignored for combat purposes if any other units in the hex are being attacked.  

b. when attacked themselves, use the defense strength on the bridge counter.  Only an “X” result has any effect.  

c. if attacked using IF, other units in the hex are ignored.  But the AS of the firing units is halved automatically.

d. if a temporary bridge is destroyed by DF or IF, all vehicular units (and their passengers) on the bridge are also destroyed.  Non-vehicular units are not affected.  Do not place wreck counters in this situation.

e. Permanent bridges may not be attacked or destroyed by artillery fire.











Amphibious Landings
I.  Set-up Procedure:
 1) German player places allotted forts, mines and block counters on the board per the situation card.  2) Allied player secretly records the turn of the landing and the coordinate of the initial placement hex for each of his units (when using optional naval support fire, the allied player writes IF orders for the first 2 game turns at this point).  3) German player then places the remainder of his units on the map.  II.  Allied initial sea hex placement
a. allied units are inverted (to represent they are in a landing craft) and placed on the first sea hex adjacent to the beach hex in which they intend to land.  

b. only 1 allied unit may be placed in a sea hex.  

c. units with 0 MP’s must be paired with carrier units.  Do not place the carrier units with the passenger units in the sea hexes.  Carrier units are positioned on top of their passenger units when such units move onto the beach hexes in the following movement phase (they are assumed to be already loaded). 

III. Beach Landing
a. all allied units on land hexes are moved before units on sea hexes are moved onto beach hexes. 

b. in the turn following the initial placement, all units on sea hexes must move onto beach hexes.  Units that cannot move onto beach hexes because of stacking limitations are eliminated instead. 

c. units dispersed by German fire may land on the adjacent hex but may move no further that turn.

d. undispersed units are turned face up and may move onto beach hexes and continue normal movement.  

e. if a unit moves from a sea hex to a beach hex already occupied by a friendly unit, all units in that hex are dispersed.  No additional penalties accrue against units previously dispersed. 

D. German Fire
a. when firing at allied units on a sea hex, the German player must allocate all firing units that are attacking a particular target before that target unit is turned face up and the combat resolved.

b. allied units that are dispersed while on a sea hex are not inverted.  Instead place a Spotted marker on them.  When these units are moved to a beach hex, remove the Spotted marker and keep the unit inverted.

c. all units (except DD tanks) on sea hexes are given a DS of 8, representing the DS of the landing craft and are treated as armored targets. 

d. DD (amphibious) tanks retain their normal DS while on sea hexes.  When attacking DD tanks on sea hexes, the German player must add 2 the dr6.  Each DD tank must roll 1 dr6 for survival per scenario instructions.  This is done in the turn AFTER placement on the sea hexes BEFORE any other units are moved onto beach hexes. 

e. after landing on beach hexes, allied units revert to their normal DS.

Airpower
I. Movement
a. aircraft units move, undergo AA attacks and resolve combat during the air phase of a player segment.

b. aircraft have unlimited MP’s; they can move anywhere on the map in 1 turn.

c. aircraft enter and exit the mapboard as indicated by each scenario.  Once they leave the map, the may never return.  

II. Observation Aircraft
a. L-5 are used to sight enemy units for IF sighting requirements.

b. L-5 units may sight enemy units in clear terrain to a range of 30 hexes.  Enemy units in woods or town hexes that fire may be sighted at a range of 10 hexes.

c. blocking terrain does not affect LOS to or from the L-5 unit.

d. as with sighting ground units, the L-5 unit has to be in range of the target from the time IF orders are written until it is executed the following turn.

III. Fighter-Bombers
a. FB units have 3 different types of DF systems: MG’s, and air-to-ground rockets or bombs.  The armament is given in the scenario.

b. FB attacks are executed in the air phase of the player segment: move the FB adjacent to the target hex, resolve AA attacks (if any), then resolve combat.

c. a particular target hex may be attacked only once per air phase.

d. all aircraft units attacking a single target hex total their AS and resolve the attack with a single dr6.

e. all WEC effects apply to air-to-ground attacks.  Bomb and rocket attacks can target a single unit or a combination of units.

f. an FB unit may not attack with MG’s the same air phase in which  in conducts a bomb or rocket attack.

g.  MG points may be combined with bomb and rocket attacks as long as the aircraft does conduct both attacks.

h. each FB may conduct 1 bomb or rocket attacks once per game.  It may fire its MG’s up to 4 times per game.

i. FB units sight targets similar to L-5 units. They may not sight (or spot) for other ground units, but only for other FB units.  Thus FB units may not be used to sight targets for IF, but if 1 FB sights a target, all FB units on the board may attack it.

IV. Anti-Aircraft Defense (AA)
a. AA is a type of DF initiated in the allied air phase, before FB units execute their attacks.  AA is similar to DF, though using AA table.

b. only German 20mm, 20(4)mm, 37mm and Wirbelwind units may conduct AA fire.

c. AA attacks are like regular attacks except: 1) LOS not blocked by terrain, 2) all aircraft are non-armored targets, 3) the AS of AA guns is doubled if attacking at half range or less.  See AA table for details. 

d. place a blank counter on those AA units that fire to indicate they may not attack or move in the German player’s segment.

